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public class Cell<T>{
private T cont;
private Cell<T> next;

public Cell(T cont, Cell<T> next) {
this.cont = cont;
this.next = next;

}

public T cont() { return cont;}

public Cell<T> next() { return next; }

public void setNext(Cell<T> next) { this.next = next;}
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public class MyList<T> {
private Cell<T> head;

public MyList(Cell<T> head) { this.head = head; }

public Cell<T> getHead() { return head; }

public void printList() {
System.out.print("List: ");
for (Cell<T>y = head; y != null; y = y.next())
System.out.print(y.cont() + " ");
System.out.printin();
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Cell<String> ¢ = new Cell<String>("a", null);
MyList<String> | = new MyLIist<String>(c);

2171 DA NIrR% 212 M2 019'0
Cell<Cell<String>> c2 = new Cell<Cell<String>>(c, null);
NTINNT IX NR7NN7 T'N' M12 70N9N0 NI TANT N
public class Cell<S, T>{ ...}

T > N7ITa AT'N* NIK NI'MT NI2IM 12'X MaN 019'0N DY
public class Cell<bears beets battlestar galactica>{...}
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interface ldentifier<T, S> {
T getMainldentification();
S getSecondaryldentification();

}

public class EmployeeCard implements ldentifier<integer, String> {
int id;
String name;
public EmployeeCard(int id, String name) {
this.id =id;
this.name = name;

}

public Integer getMainldentification() { return id; }
public String getSecondaryldentification() { return name; }
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T t = new T(); // does not work!
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:0'NNNN (wrapper)

Boolean, Byte, Short, Character, Integer, Long, Float,
Double
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public class Container<T> {
private T val;
public Container(T val) { this.val =val; }
public T getVal() { return val;}
public void setVal(T newVal) { val = newVal; }

public static void main(String[] args) {
Container<String> strCont = new Container<String>("Getting schwifty");
strCont.setVal(0); // Error — doesn’t compile (which is good!)

Container rawCont = new Container<String>("Getting schwifty");
rawCont.setVal(0); // No error (which is bad!)

Container<String> rawCont2 = new Container(0); // No error (also bad)
String s = rawCont2.getVal(); / Run-time error

} 0
} 1
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Container<String> ¢ = new Container<String>(“Kid A");
Container<String> ¢ = new Container<>(“Kid A");
NI71I7Y NNIYN 'y
Container<Container<String>> c =
new Container<Container<String>>(new Container<String >(“Kid A"));
Container<Container<String>> c =
new Container<>(new Container<>(“Kid A"));
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public class Helper {

public <T> boolean compare(Container<T> cl,
Container<T> c2) {

return cl.equals(c2);

}

,Helper<S> aina np7nnin nX 2 1an7 na 1710
"11'W 7D K77 ,RINY 19D AINWI TIPN INY TWUNRD
J'OPON
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public class Helper<T>{

public <T> boolean compare(Container<T> cl, Container<T> c2) {
return cl.equals(c2);

}

public static void main(String[] args) {
Helper<String> h = new Helper<>();
Container<Integer> c1 = new Container<>(1);
Container<Integer> c2 = new Container<>(2);

h.compare(cl, c2); // this compiles
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public class Helper<T> {
public boolean compare(Container<T> cl, Container<T>c2){...} }

OKI

public class Helper<T> {

public static boolean compare(Container<T> cl, Container<T> c2){...}

}
Compilcation Error!
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String s = "IAmAnObjectToo";
Object o0 = s;
?N'PIN ITN NNYNN DXRN
Container<String> s = new Container<>("whoops");
Container<Object> 0 = s;

L7270 19IXAY (110 (AX7'onIp NNMAY) NYPIN N'R NNYNN
I'2 on' DIY 1A X7 N7 ,A Dy is-a on' 0"y B o
GenericClass<B>-% GenericClass<A>
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public static void printNumbers(Collection<Number> numbers) {
for (Number n : numbers) {
System.out.printin(n.intValue());

public static void main(String[] args) {
List<Number> In = Arrays.asList(1.1,2.2,3.3);
List<Double> Id = Arrays.asList(1.1,2.2,3.3);

printNumbers (In); // prints 1 2 3
printNumbers (Id); / Compliation Error!
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VIT' X7 M2 019'0 ¥ nn'wN It List<?>
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019'0NVY nNn'wN IT List<? extends Exception>
.Exception oy Is-a on' 0"n 7Y VIT K70 NN
IMNN DON ' Tan7 |[N1I
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public static void printNumbers(Collection<?> numbers) {
for (Number n : numbers) { /[ Compilation error!
System.out.printin(n.intValue());
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public static void printNumbers(Collection<? extends Number>
numbers) {

for (Number n : numbers) {
System.out.printin(n.intValue());

public static void main(String[] args) {
List<Number> In = Arrays.asList(1.1,2.2,3.3);
List<Double> Id = Arrays.asList(1.1,2.2,3.3);
printNumbers (In); // prints 1 2 3
printNumbers (Id); // prints 1 2 3
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public static void example(List<? extends Exception> Ist){
Ist.add(new Exception("a"));
M Exception e = Ist.remove(0);

}
DN QX QtoIn? 7211 X7 nwyn?

public static void example(List<? super Exception> Ist){
M Ist.add(new Exception("a"));
Exception e = Ist.remove(0);
M Object o = Ist.remove(0);

}
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List<? extends Exception> Ist = new ArrayList<Exception>();
Ist.add(...);

Inn'wn? 12K QR q'oin? 701 X7
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public void f(List<? extends Number> Istl,
List<? super Number> |st2) {...}
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public class Box<V>{
1 public <T>void funcl(Set<T>sl, T item) { sl.add(item); }

public void func2(Set<?> s2, Object item) { s2.add(item); }

public void func3(Set<? extends Exception> s3, IOException item) {
s3.add(item); }

M public void func4(Set s4, Object item) { s4.add(item); }
}

func4-1 funcl p :paIwn
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public class Test<T extends Comparable> {
public static void main(String[] args) {
List<String> strList = Arrays.asList("abc", "def");
System.out.printin(func(strList));
}
public static boolean func(List<*******> |gf) {
return Ist.get(0).compareTo(lst.get(1)) == O;
I3
PEEEEE IR Q'7NNT NIT71D' NIRAN NINYOIRNN 17X
? extends Comparable :1 n'x¥oIx
T :2 N'¥9IX
Comparable :3 n'¥oIx
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